1
6


Examination Questions

Due date: 28 September 2012 at 16.00 pm. 


PART #1

Instruction: 
There are 20 multiple choice questions. You can choose only one best choice for each question by circle around the letter a, b, c, or d. The total score is 40 (2 score for each question).

1. A survey aims to estimate the annual income among people who live in a community near a large dam. A total of 400 villagers were randomly selected from 10 villages. The annual income ranged from 100,000 to 400,000 baht. The mean was 250.000 baht, with standard deviation 20,000. What is the dependent variable?

a. The mean annual income 
b. The annual income 
c. The villagers
d. The community
2. From the annual income survey, what is the population?

a. All people in the study country

b. All people in all villages of a community near a large dam
c. All people in 10 study villages
d. 400 people in 10 villages
3. From the annual income survey, what is the sample?

a. All people in the study country

b. All people in all villages of the community

c. All people in 10 study villages

d. 400 people in 10 villages
4. From the annual income survey, what is the data?

a. 400
b. 100,000
c. 250,000
d. 10
5. From the annual income survey, what is the statistic?

a. 400

b. 100,000

c. 250,000

d. There is no statistic reported.

6. From the annual income survey, what is the standard error of the mean (SEM)?

a. 1,000
b. 20,000
c. 1,600
d. 50
7. If the annual income can be assumed to follow a Normal distribution, what is the parameter?

a. No body know

b. We are 95% confidence that it will be somewhere between 248,034 and 251,966.

c. We are 95% confidence that it will be somewhere between 4,574 and 445749.

d. We are 95% confidence that it will be somewhere between 249994 and 456,897.

8. From the annual income survey, what is the p-value?

a. 0.08

b. 0.05

c. < 0.05

d. Not relevant for this study

9. If the mean annual income of the whole country is 260,000 baht, the survey demonstrated that the mean income of the study community was

a. statistically significantly higher than that of the country (p-value < 0.05).

b. not statistically significantly different from that of the country (p-value > 0.05).

c. statistically significantly lower than that of the country (p-value < 0.05).).

d. just by chance differ from that of the country.

10. After 5 years of a community intervention on vocational educational project. An evaluation study was conducted. Group A refers to villagers who received an education program plus home visit and Group B is who received a normal education system only. Each of them responded to a 100-item literacy test with the maximum score of 100.  Group A with 300 villagers the literacy score was 80, standard deviation 75; in group B with 300 villagers it was 70, standard deviation 65. What is the difference of the literacy score?

a. 0
b. 5
c. 10
d. 25
11. From the educational evaluation study, what is the standard error of the difference between the two means?

a. 62.6
b. 71.5
c. 5.7
d. 2.9
12. From the educational evaluation study, what is the 95% confidence interval for the difference?

a. –1.9 to 15.9
b. –0.2 to 14.0
c. –5.8 to 19.8
d. –1.3 to 21.3
13. From the educational evaluation study, what is the null hypothesis being tested?

a. H0: ( = 0

b. H0: (A ( (B 
c. H0: (A = (B = 0

d. H0: (A - (B = 0

14. From the educational evaluation study, what is the test statistics?

a. 8

b. 7
c. 1.75
d. 0.03

15. From the educational evaluation study, what is the p-value?

a. 0.08
b. 0.05
c. 0.09
d. 0.50
16. From the educational evaluation study, what is the appropriate conclusion based on the p-value obtained from the test hypothesis?

a. We have no sufficient evidence to conclude that the means score of the two groups were different.

b. We have sufficient evidence to conclude that the means score of the two groups were different.

c. We have no sufficient evidence to conclude that the means score of the two groups were equal.

d. We have sufficient evidence to conclude that the means score of the two groups were equal.

17. From the educational evaluation study, if the difference literacy score of within 30 is considered educationally unimportant, it means that this study had provided  

a. an inconclusive finding.

b. a conclusive finding that the difference was not educationally important.

c. a conclusive finding that the difference was educationally important.

d. an inconclusive finding that the difference was educationally important.

18. In a community, l7.8% of 320 women were reported that they were abused by their husbands. What is the 95% confidence interval of this percentage?

a. 13.8% to 22.5%

b. -3.8% to 10.5%

c. -0.04% to 0.11% 

d. Insufficient information

19. In another community in the same region 21.2% of 185 women were reported that they were abused by their husbands. What is the estimation of percentage difference between the two communities reported as 95% confidence interval?

a. 13.8% to 22.5%

b. -3.8% to 10.5%

c. -0.04% to 0.11% 

d. Cannot be computed due to insufficient information

20. To test a hypothesis of determining the proportion of woman abused in the two communities whether or not they are differ, what is the test statistics?

a. 13.8

b. 0.34

c. 0.94
d. Cannot be computed due to insufficient information
================ End of Part 1 ===============

PART #2

2.
A physical fitness program was evaluated in a community to see its effect on weight of the people. Weight before and after the six-month program was recorded for each of 30 study people as follows: [Total score =30]
	Number
	Before
	After
	
	Number
	Before
	After

	1
	82
	80
	
	16
	76
	74

	2
	79
	77
	
	17
	84
	85

	3
	87
	78
	
	18
	85
	81

	4
	80
	80
	
	19
	85
	79

	5
	87
	85
	
	20
	80
	78

	6
	75
	74
	
	21
	88
	85

	7
	78
	75
	
	22
	78
	75

	8
	89
	86
	
	23
	89
	80

	9
	86
	88
	
	24
	94
	90

	10
	81
	80
	
	25
	99
	94

	11
	77
	70
	
	26
	82
	81

	12
	87
	85
	
	27
	78
	73

	13
	98
	97
	
	28
	95
	76

	14
	75
	74
	
	29
	75
	70

	15
	72
	70
	
	30
	82
	80


2.1
What is the mean difference of the weight? [Score =2]
2.2
What is the standard error of the mean difference? [Score =2]
2.3
Give an approximate 95% confidence interval for the difference. [Score =6]
2.4
Interpret the 95% CI in your own words. [Score =4]
2.5
State the hypothesis to be tested. [Score =2]
2.6
Calculate the test statistics. [Score =4]
2.7
Find the p-value. [Score =2]
2.8
Conclude and interpret the results of testing the hypothesis. [Score =4]
2.9    Summarize the findings in your own words. [Score =4]

================ End of Part 2 ===============

PART #3

A study aims to determine effect of working environment, with and without air conditioners, on absent from work. You are assigned analyze the data of this research. The report has to be presented in the format that can be attached under the ‘RESULTS’ chapter of the full research report.  Please also describe methods of statistical analysis you performed so that it is suitable to be in the METHODS section of the report.
[Total score = 30]

Data description:

id
Identification number
exp
Experiment group? 
(1=Working in rooms with air conditioners; 





 0=Working in rooms without air conditioner)

age
Age in years

sex
Sex 1=Male  2=Female

dur
Duration of working experience (months)
sat
Work satisfaction 1 to 4 = Low, moderate, High, Very High

abs 
Absent from work (days)
Data: 

	id
	exp
	age
	sex
	dur
	sat
	abs

	1
	0
	59
	1
	6
	3
	26

	2
	0
	48
	1
	0.08
	4
	28

	3
	0
	60
	2
	0.25
	3
	44

	4
	0
	71
	2
	1
	1
	13

	5
	0
	60
	2
	22
	4
	31

	6
	0
	67
	2
	20
	4
	9

	7
	0
	52
	1
	1.5
	3
	18

	8
	0
	26
	2
	2
	4
	12

	9
	0
	31
	1
	1
	1
	108

	10
	0
	35
	1
	3
	4
	12

	11
	0
	27
	2
	2
	3
	11

	12
	0
	38
	2
	13
	4
	6

	13
	0
	58
	1
	9
	4
	16

	14
	0
	53
	2
	4
	3
	16

	15
	1
	45
	1
	0.41
	4
	10

	16
	0
	53
	2
	6
	4
	12

	17
	0
	58
	2
	10
	4
	6

	18
	0
	47
	1
	0.25
	3
	8

	19
	0
	55
	1
	1
	4
	15

	20
	0
	37
	2
	1.25
	3
	10

	21
	0
	68
	2
	5
	4
	56

	22
	0
	65
	1
	2
	4
	17

	23
	0
	33
	1
	1.5
	4
	20

	24
	0
	28
	2
	7
	3
	82

	25
	0
	50
	1
	9
	3
	44

	26
	0
	49
	2
	4
	4
	14

	27
	0
	57
	2
	1.71
	4
	20

	28
	0
	70
	2
	1
	2
	69

	29
	0
	44
	2
	0.67
	2
	24

	30
	1
	47
	2
	3
	3
	12

	31
	1
	42
	2
	0.25
	2
	22

	32
	1
	54
	1
	3
	4
	25

	33
	1
	53
	1
	1
	3
	16

	34
	1
	49
	2
	10
	4
	18

	35
	1
	51
	1
	2
	4
	9

	36
	1
	61
	2
	1
	4
	20

	37
	1
	54
	2
	10
	4
	20

	38
	1
	61
	1
	3
	4
	8

	39
	1
	33
	2
	7
	3
	8

	40
	0
	42
	2
	13
	4
	12

	41
	1
	54
	2
	0.5
	3
	20

	42
	1
	61
	2
	0.5
	4
	74

	43
	1
	53
	2
	7
	4
	16

	44
	1
	44
	2
	7
	4
	10

	45
	1
	58
	2
	2
	3
	13

	46
	1
	33
	2
	5
	3
	10

	47
	1
	37
	1
	0.16
	2
	6

	48
	1
	53
	2
	5
	4
	14

	49
	1
	71
	1
	10
	4
	12

	50
	1
	26
	2
	2
	3
	20

	51
	1
	43
	2
	0.41
	4
	8

	52
	1
	76
	1
	4
	4
	10

	53
	1
	66
	2
	1.5
	3
	14

	54
	1
	48
	1
	1.6
	3
	13

	55
	1
	56
	2
	2
	4
	19

	56
	0
	49
	2
	3
	3
	15

	57
	1
	49
	2
	1.5
	3
	64

	58
	1
	49
	1
	0.42
	4
	16

	59
	1
	72
	1
	0.5
	2
	6

	60
	1
	39
	2
	2
	3
	13


================ End of Part 3 – Good luck ===============






Name: …………………………………………. Student ID: …………………………..








Instruction: 	This is a take home examination is for you to complete it within the teaching week. This is to help you know a clear learning goal of this week and to assess you if you really achieve the goal. The total score is 100. You are allowed to use any reading materials and computing facilities to help you answer the questions. It is important that you MUST work solely on your own. 











